Problem 

Solving 
Use RUDES to help you to work out the answer. 
R= Read 

U= Underline the key words ( altogether, left…) 

D= Draw 

E= Estimate

S= Solve 

Problem Solving 1
1. Ellie thinks each person at her party will eat 2 biscuits. There will be 6 people. How many biscuits does she need to make? 
2. There are 12 biscuits in a pack. How many biscuits would there be in 3 packs?

3. Cian has 9 Pokemon cards. Jack has double the amount. How many cards has Jack? 

4. In a wood there were 34 trees. Eleven of the trees were blown over in a storm. How many were left standing?

5. I am an odd two- digit number. My digits add to make 3. What am I ? 
Problem Solving 2

1. Joshua’s dad says ‘ If you save €12, I will double it.’ How much will Joshua have after his dad has doubled his €12?

2. Calum builds 7 sandcastles. Jamie builds twice as many as Calum. How many does Jamie build? 

3. There are 2 buns in each box. How many buns are in 6 boxes?
4. In a swimming pool there are 10 children. Seven of them get out and 3 more get in. How many are in the pool now?

5. Tom has one 10c coin and two 5c coins in his pocket. How much has Tom? 

Problem Solving 3
1. There are 19 boys and 17 girls. How many altogether?
2. A red t- shirt costs €6 and a white t- shirt costs €3. How much more does the red t- shirt cost than the white t- shirt? 
3. There were 48 birds on a wire. 8 flew away. How many were left?

4. Second Class have 2 hours in which to make a model castle. How many minutes do they have?

5. There were 18 children on a bus. ½ of them were boys. How many boys were on the bus?

Problem Solving 4 
1.  Ethan has 4 boxes of marbles. There are 5 marbles in each box. How many marbles has Ethan altogether?
2.  Nauman has €8. He buys a book for €5. How much money has he left?
3. Joe gets home from school at ¼ past 3. It takes him 15 minutes to walk home. At what time does he leave school?
4. 20 children visit a zoo. 14 of them want to see the snakes. How many do not want to see the snakes?
5. Dad blows up 15 balloons. He gives each child 5 balloons. How many children get 5 balloons?
Problem Solving 5

1. Sam has two wallets. In one wallet he has 65c and in the other, he has 33c. How much does Sam have altogether?
2. A packet of dog biscuits cost 50c. How much would 3 packets cost?
3. Ryan has 22 toy animals. He gives half of them to his little brother. How many does he give to his brother?
4. Dillon’s birthday is on the 14th day of the 7th month of the year. On what date is Dillon’s birthday?
5. A pet shop has cages with 2 guinea pigs in each. How many guinea pigs are in 5 cages?
